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1 | 1A | #K 288 |HmERSE7Hs| 323 337 660 28 13
2 | 1IC | BM t&F |mEMT7HE| 296 332 628 23 6
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1 | 1B | k8 Fajas 307 311 618 14 4
2 | 2D | EHE &4E |mERET7HE| 284 315 599 13 4
3 | 2C wm & Fajas 255 301 556 11 3
4 | 2B | BH #E |mEGTT7HE| 262 284 546 7 2
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ERL IZNE K% 18m-1 18m-2 X
1 | 3A Ty & Ac%ﬂ 247 271 518 1 1
2 | 3C | WEk #m | —=hFER | 256 260 516 10 5
3 4D =EF BR “BHRER 249 232 481 5 1
4 | 3B | 2@ Fon | = | 234 233 467 4 1
5 | 4C | HF A/ | Z=BHFER 234 216 450 5 5
6 AA | ARE FE | ZEHER 204 216 420 0 0
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1 | 8D | &R/ W—E3 FAJAS 264 280 544 8 3
2 | 5C | =R KX |MEHTHE| 232 262 494 6 2
3 | 5A | B RKX |HmERET7H| 224 213 437 0 0
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1 8C | BR &% —= ‘:Pi'_?“—ﬁ 271 263 534 10 2
2 | EE BA T ERER 241 242 483 5 1
3 6C 5F B TERER 246 220 466 7 1
4 | 5D 1T ;i PN TERER 246 218 464 4 1
5 [ TA | EHE BX | ZEHFKR [ 243 209 452 1 0
6 6B B A T ERER 212 236 448 3 2
7 5B B uE st T ERER 173 220 393 0 0
8 C | BN B TERER 214 154 368 2 0
9 8B h 8 EK T ERER 188 166 354 1 0
10 | 6A B R% T ERER 178 134 312 3 0
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1 A | MWE BB |woamTRe| 279 337 616 23
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1 [10C| R&E #HE |[H#sam7Hz| 327 341 668 31 15
2 [10B| #K [FHMA AcHy 295 336 631 22 10
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BRI IZIE i@ 30m-1 30m-2 X
1 | 11A| #H E= AcH 326 298 624 20 6
2 | 12B| b BAE | ZEdhHEi | 263 288 551 9 3
3 | 13C| BBFHR B4EF | Z=24FFER 261 286 547 6 3
4 | 11D | /My RAE | Z=HhEFER 257 254 511 1 0
5 | 11C| &K ZE3E “BHRER 235 240 475 6 2
6 | 11B| ®tkE ¥BE | Z54FFK 252 210 462 6 3
7 |12C | &AA =< | ZEhER | 219 243 462 5 4
8 | I3A | RAR =& | ZBHFER 224 226 450 2 0
9 | 13D | BE ERP | ZZHhFK | 209 191 400 5 0
10 | 12A | 23F —1M “BHRER 181 190 371 2 1
11 | 13B| ZEH VF “BHRER 171 172 343 2 1
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1 |14C| 2B EF |[miEH7Hs| 306 306 612 12 3
2 | 15C| fkBE AR | —ZHhF&KR | 308 301 609 13 4
3 | 15D | BE A |HoramhTHe| 294 286 580 12 5
4 | 16A| FH K= | —Zd%K 292 287 579 11 4
5 | 15B| XKH KBt “ERER 280 277 557 8 4
6 | 14A I E A HSC 270 285 555 10 1
7 |14B| =T B AcH# 281 261 542 6 3
8 | 15A| 7E BE AcH 276 266 542 4 1
9 [16D| A& KE | Z=FRFEK 279 238 517 7 0
10 | 18A | AR WAKER | ZEHFEK 248 252 500 8 4
11 [ 16C| @@ & “=HhER | 236 260 496 7 1
12 | 16B =) R “EBHRER 248 237 485 3 1
13 | 17A | Wik Fit | =% | 242 233 475 4 2
14 | 14D | XI5 AcHT 218 249 467 2 1
15 | 17C | Ltfk =¥ | —=9%FK | 238 211 449 7 1
16 | 18C PR R —EBRER 219 221 440 2 0
17 | 18D | ##% % “EdEik | 211 196 407 5 3
18 [17D| Lt =E | Z=FFK | 216 185 401 2 0
19 | 18B| wmile =i | —=FK | 109 168 277 1 1




